PRESTIGE
ROTARY

YAIKA KAI EPTAAEIA NOY AEN NMEPINAAMBANONTAI
NOT INCLUDED HARDWARE AND TOOLS

I

|

PH 2
\_ J
(" YAIKA KAI EPFAAEIA NIOY MEPIAAMBANONTAI
INCLUDED HARDWARE AND TOOLS
-
=2 x8(SOL 60-70-80)
S x10(SOL90) x2

/* NAATH

4,2x13mm
\__

* NPOEPAITIKOX EEOMAIZIMOX
\OPTIONAL EQUIPMENT




/EI'KATAITAIH KAI ALOAAEIA A

INSTALLATION AND SAFETY

(AHOZTA}:EIZ ALOAAEIAX \ (AHO}ZTAIEIZ ANO \
SAFETY DISTANCES EY®DAEKTO AANEAO

DISTANCE TO

FLAMMABLE FLOOR

NAAKA MATQMATOX
(MYPANTOXO YAIKO)
FLOR PLATE
(FIRE RESIST MATERIAL)

-

(" AMOITATEIE ANIO EMGAEKTA ANTIKEIMENA
ABICID|E DISTANCE TO FLAMMABLE OBJECTS

Minimun (mm)

AN

EY®AEKTO TOIXIO & e
AMONQTH KANOAOXOE
Famasicwaiia - |50 [150(170|300/1400 2]
UN-INSULATED FLUE PIPE Min. ] D
170mm | e
Min.
EY®AEKTO TOIXIO & 1400mm

MONQMENH KAMNOAOXOX

ramuanewais 50/ 50 1170/300(1400 m

MYPANTOXO TOIXIO L3 *

FIREWALL 0 0 ] 70 300 1409

-
(. )
1

N\

AN J

% 50-100mm A EYKOAOTEPO KA@APIIMO KAl AIANOMH ©OEPMOTHTAZ :TON XQPO
50-100mm FOR EASY CLEANING AND HEAT DISTRIBUTION

% % NMPOEPAITIKOX EEONAIZMOX 2
OPTIONAL EQUIPMENT




N

(EIXATQIrH AEPA
AIR INTAKE

T1A EITATQIH

MMA EIZATQIMH
{ AEPA ATNO KATQ

1 BOTTOM AIR
INTAKE

b

AEPA ANO MIZQ [

REAR AIR
INTAKE

POAENA
+ WASHER

NMPOLOXH!

CAUTION!

LIYOLPELTEITE OTI SV LITAPXEI KivOLVOG va
A POapsei To Kak®S10

Make sure that the cable will not be damaged

H nAeKTPIKA eyKataoTaon mpEmel va yivel
ff AMNAPAITHTQX povo amod eEEISIKELUEVO TIPOCTTIKO

The electrical installation must NECESSARILY
\ be made by quadlified personnel







* MPOEPAITIKOX EEOMAIZIMOX
OPTIONAL EQUIPMENT 5



TEXNIKA XAPAKTHPIZTIKA
TECHNICAL SPECIFICATIONS

MAATIA OWH NMPOOWH KATOWH
SIDE VIEW FRONT VIEW TOP VIEW
D =T T Ig
() :
] C
DX
40cm
B A
AIAZTAZEIZ BAPOE*
MONTEAA DIMENSIONS S
MODELS A | B | C | D | X
(cm) (Kg)
s 2 25 15 =
SOL 80 86 23 Hi 75
26,5 18
SOL S0 96 79
* Xepig Tnv goTia (SOL)
Without the fireplace (SOL)
NAATIA OWH NPOOWH
IYPTAPI SIDE VIEW FRONT VIEW
TRAY - f
' 30cm
MONTEAA Lt BAPOZ & hv) L B -
MODELS WEIGHT <50,5cm— | Lt
{em) (Ke) KATOWH
AEN AIATIOETAI
TOP VIEW
SEE NOT AVAILABLE 6em
SOL 70 58 18
SOL 80 68 19
SOL 90 78 20
NMAATH
BACK PLATE
MONTEAA b AREC:
MODELS = W{EI'(G)HT A —
cm g
SOL 60 5) 35 3lcm
SOL 70 62 4 l
SOL 80 72 4,5 Lb I
SOL 90 82 5




DECO ///{@ a{/'fe

ELEGANCE
ROTARY

YAIKA KAI EPTAAEIA NOY
AEN NMEPIAAMBANONTAI
NOT INCLUDED HARDWARE AND TOOLS

T

\ PH 2 /
- =~ )
YAIKA KAl EPFAAEIA NOY NMEPIAAMBANONTAI ==
INCLUDED HARDWARE AND TOOLS
—  x8(SOL 60-70-80) g . L
S x10(sOL90) x2 x10 = =
v TTxé x3 -
4,2X1 3mm M8x30 M5X20 M5x8

X2 - g ~N
%2 IYPTAPIA = @ T,
— 2TRAYS  ~x8 T x32 gxzz
= El / M5x8 M5X10 4,2x8 BZ
(%NAATH )
BACK PLATE
! ______:_I e r:_________:-:___
c_’? | LT E—
Ex6 |
= Toee—— -
4,2x13mm L oee—
\_ J
* MPOEPAITIKOX EEONAIZIMOX
\OPTIONAL EQUIPMENT




[EFKATAZTA)ZH KAI AI®AAEIA )
INSTALLATION AND SAFETY

/AHOZTAZHZ AIDAAEIAL \ /AHOZTAZEE ANO
SAFETY DISTANCES EY®AEKTO AANEAO
DISTANCE TO
FLAMMABLE FLOOR
NAAKA MATQMATOX
(MYPANTOXO YAIKO)
FLOR PLATE =
(FIRE RESIST MATERIAL) T~
y “Min.
Min. -300
500mnf
./.
Minimun (mm) [ \
ATMOITAXIEIX AITO EM®DAEKTA ANTIKEIMENA
AIBICIDI|E DISTANCE TO FLAMMABLE OBJECTS
EY®AEKTO TOIXIO & oy
AMONQTH KAMINOAOXOZ
Fanwanewai s - |50 150(170(300(1400 P>
UN-INSULATED FLUE PIPE Min. I
170mm | I -T_,_:-T:__
Min.
EY®AEKTO TOIXIO & 1400mm

MONQMENH KANNOAOXOX

rammasiewa s (501( 50 (170|300{1400 ' ‘

>

INSULATED FLUE PIPE

e
! - 5

MYPANTOXO TOIXIO * *

FIREWALL 0 0 ] 70 300 ]409

rey

rey

472%1%%%

- J

% 50-100mm A EYKOAOTEPO KAGAPIZIMO KAl AIANOMH ©OEPMOTHTAL XTON XQPO
50-100mm FOR EASY CLEANING AND HEAT DISTRIBUTION

% % NPOEPAITIKOX EEONAIZIMOX
OPTIONAL EQUIPMENT 2




f,%:ﬁw: ;TRT'punﬁcn ora X (mm)

Mark and drill to the points ;

| L

acgiagenee | | Tgxieo |

SOL 60 330 774
NEAT 70/SOL 70 380 774
NEAT 80/SOL 80 430 774
NEAT 90/SOL 90 | 480 774




(EIXATQrH AEPA
AIR INTAKE

~

T1A EITATQIH

I

AEPA AMIO MIZQ [\

REAR AIR
INTAKE

\ be made by qualified personnel

NMPOXOXH!

CAUTION!

LIYOLPELTEITE OTI SV LTTAPXE KiVELVOG va
A pOapti To KAA®SI0

Make sure that the cable will not be damaged

H nAekTPIKA cyKataoTaon mpEmel va yivel
ii ANAPAITHTQX pévo amod e§eISIKELUEVO TTPOCTWITIKO

The electrical installation must NECESSARILY




*MPOEPAITIKOX EZOMNAIZIMOX
OPTIONAL EQUIPMENT



TEXNIKA XAPAKTHPILTIKA
TECHNICAL SPECIFICATIONS

NAATIA OWH NMPOOWH
SIDE VIEW FRONT VIEW
Se==r=c==
B C
A
40ch
B 155cm
KATOWH
TOP VIEW
[—— — — —— T
D
Y
DX
N AIAYXTAZEIZ BAPOs™
DIMENSIONS WEIGHT
MODELS A | B | C | D | X
(cm) (Kg)
S s | v =
SOL 80 86 3 i 86
26,5 18
SOL 90 96 88

* Xwpig Tnv gotia (NEAT ) SOL)

Without the fireplace (NEAT i} SOL)




LYPTAPI
TRAY

NAATIA OWH NPOOWH KATOWH
SIDE VIEW FRONT VIEW TOP VIEW
A ~—56Ccm—
. 3¢Ocm
& U _v - o
<50,5cm ~— 68cm —
NMAATH
BACK PLATE
T || 7
31cm H
141cm




